Toolkit
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‘Graphing a Parabola —
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Finding the Roots (x-intercepts)
Factor and use zero product property
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Finding the y-intercept
Substitute x = 0
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Finding the vertex

The line of symmetry goes through the
x value halfway between the x- mtercepts

'a3‘9h%gfbé)kakyaw

S+| = (0@4(,@5
%, 3 pared

5-372] —(£3]2]

| K= 2| e & 8 MD‘-@{VJ
A >o/vc:1»zb

Lde
\D/Baf lf;ilzzo wko Ao ON O\M\L

F sdve Cerine
%\)L&\;‘\\/’c\&ua Y

I | AAN
s R
Plg )
Ll HiH- 1
BERARRTR
| L] ]
5 [ AP
7 ‘.)) 2 _4‘ I_\ }
p! - 1—_—I \'
“'3'r_“"!‘?3‘4'5'7
\.Z_}__
YRR
N1V _
SN
8 B
‘ug): _t L d L
1 i:\ﬁjzjﬁ

Find other required points|

Calculate additional points

Use symmetry to fill in points.
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